Total no. of printed pages : 7 1102/24-25

Annual Examination, 2024-25

Class : VI
Subject : English

Time : 3 hours Total marks : 100

(The figures in the margin indicate full marks for the questions.)

SECTION : A
1. Choose the correct answers from the given alternatives and
write them separately. 1x15=15
1) Pariand her family will spend days in the Manas
National Park.
A) two B) three
C) four D) five
i) The woodcutter was —

A) happy and sincere
B) sincere and honest
C) sincere and greedy

D) greedy and honest
Navakanta Barua is popularly known as—

A) Akhud Kokaideu - B) Ekhud Kokadeu
C) Ekhud Kokaideu D) Ekhood Kakaideu
Ravi Shankar was born in—

A) Benares B) Banares

C) Benaras D) Banarese
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International Day of Yoga was first celebrated on 21
June

A) 2014 B) 2016

C) 2018 D) 2011

A rare and endangered species of the Manas National
Park is—

A) Assam roofed turtle B) assam roofed turtle
C) Assam roof'turtle D) Assam roofed turrtle
On the day of the programme in Sarobar Academy who
spoke about Navakanta Barua ?

A) Vivek B) Amit

C) Nilotpal D) Kanak

The king of the Beatles is—

A) George Harrison B) Paul McCartney
C) George Miller D) John Lennon

What was served at the end of the yoga programme ?
A) water B) fruit juice

C) light snacks D) all of the above
_was a great musician in Akbar’s court.

A) Tansen B) Birbal

C) Ali Khan D) Ravi Shankar

In the monsoon thereis ~ and rain.

A) snow B) thunder

C) cold D) warm

The meaning of ‘dive’ is—

A) swim B) shout

C) ecry D) plunge
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xii) Navakanta Barua won the Sahitya Akademi Award in—

A) 1975 B) 1990 .
C) 1991 D) 1970
xiv) Ravi Shankar was honoured with the—
A) Padma Bhushan B) Padma Vibhushan
C) Bharat Ratna D) All of them
xv) The honest woodcutter lived in a —
A) bigvillage B) small village
C) town Vi D) forest
SECTION : B

Answer the following questions in complete sentences.
i 1x4=4
a) Where is the Manas National Park located ?

b) What do the seals do ?
c) What happened to the axe of the woodcutter ?

d) What makes a yearly seasonal chain ?

What are the rare and endangered species the Manas
National Park is famous for ? : 2

What is yoga ? 5
Write the first four lines of the poem ‘Mother Earth’. 4
Write the thyming words for each of the following. /2x4=2
birth, rain, tricks, mate

Write whether the following statements are true or false.
Yax2=1

a) The Manas National Park hosts 550 species of birds.

b) The woodcutter sold the woods to a merchant.
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SECTION : C

Re:write the following sentences in its correct tense forms
using ‘after’ in place of ‘before’. 1x2=)

a) Sunita had gone before I arrived.

b) The sun#had set before we started for the fair.

Fill in the blanks with suitable forms of adjectives. 1x2=2
a) Heis the ____boy in the class. (good)

b) Heis than his sister. (tall)

Join the following pairs of sentences using the construction
‘as + adjective + as’. 1x2=2

a) Biman is tall. Biman’s father is tall.
b) An orange is round. A ball is round.
Find out the pattern of the following sentences. 1x3=3

a) She is crying loudly.

b) The boy is sad.

c) He bought a pen yesterday.

Fill in the blanks with can, should, must or may.  1x3=3
(Use one modal only once.)

a)  We obey our teachers.
b) [ take this pen ma’am ?
c) We complete our work now.

Use the following words in sentences taking each of them
once as a verb and once as a noun. 1x4=4

Book ; Board
(4) Contd.
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state whether the underlined verbs are transitive or
mtransitive. | x3=3

a)  They go to school,

b) 1 feed my pet dog,

¢)  She broke the glass.

Change the voice of the following, 1%4=4
a)  Mr. Barman teaches En glish,

b) Dimpi stole a watch.

¢) She can write a song.

d) My grandmother wrote an interesting story.

Write one sentence each for the following phrasal verbs.
1%4=4
Bring up ; Call on : Look after ; Put out

Fill in the blanks with appropriate correlatives given in the
box. (Use one correlative only once.) 1 x4=4

both...and ; so...that ; as...as ; neither...nor :
not only...but also

a) Rinku  Sweta are intelligent.

b) Heis  tall  his father.

c) Radhikais  brave  wise.
d) _ Shantanu ___ Sunita is a player.
Change the form of narration of the following. 1x4=4

a) Madhuri says, “I am a follower of Buddha.”

b) Biman says, “I visit the doctor regularly.”

¢) The boys say, “We practise football every Sunday.”
d) He will say, “I read novels.”
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SECTION : D

19, Match column A with column B. | X5=5
A B
a) Ruver a) Pilot
b) Large b) Aviary
¢) Museum ¢) Amount
d) A place where birds d) Statues
are kept
e) I steer a ship or an
aeroplane e) Rivulet

20. Suppose you are Nilakshi Bora, a student of class VI of

21

Holy Home Academy, Hajo. You were absent from the
classes on account of your fever. Write an application to
your principal asking for leave of absence. )

Read the following passage carefully and answer the
questions given below it.

This is Rangjuli village. Mr Nagen Hazarika lives here
with his wife. He is the Headmaster of Rangjuli High School.
These days their granddaughter Pari is staying with them.
She has come to spend her winter vacation here. She likes
her grandfather’s studyroom very much. He has a good
collection of books. Pari spends most of her time with her
grandparents there. Mr Hazarika has shown her a few books
by Navakanta Barua. She has just finished his ‘Kereluar
Rail’ and is now reading ‘Akharar Jakhala’. Her grandfather
has also taught her to recite some of Navakanta Barua’s
poems, Pari’s grandmother has promised to give her some
more books on her next birthday. So, she is very happy.
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Questions :

a)  What is the name of the village ? 1
b) What is Pari’s grandfather ? 1
¢) What is the name of the book that Pari is reading ? 1
d) Why is Pari happy ? 1
€) What does Pari’s grandfather have ? 1
22. Translate into English. o=

) (REAAEE @B g T iR |
i) (NS G 7, “2 A 9N O AE|”
i) SIS FA-e e oA |

iv) JAIFHIOMS (FRO! SN AR

v) QRG] SR S5IRelE T 559 |

23. Reading. (continuous evaluation) 5
24. Spelling and dictation. (continuous evaluétion) 10
1 6 & ¢
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16. Ifa>0then|a|=7?

A) -a B) a C) 0
17. 2.0369 x = 2036.9
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18. Which of the following is nota binomial ?
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i) Define perimeter of a triangle.

ii) Define monomial.

i) Define continued proportion.
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6. Bouncing back of light from a shining surface is called—
A) reflection

B) refraction
- C) bending D) dispersion
. ___ objects cast no shadow.
~A) Translucent ' B) Transparent
C) Opaque D) Both A and C
- hich one can be used for making manure ?
A)  Earthworms B) Houseflies
C) Eagle D) Crow
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3R means

A) reduce, reuse and recycle
B) run, reuse and recycle

C) rotting, reduce and reuse
D) recycle, rain and rotting
If you dump kitchen waste in a pit after sometime it may—
A)  convert into vermicompost i
B) convert into compost

C) dried forever

D) all of these
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16. Which of the following is the highest hill of Assam ?
A) Mikir Hills B)  Naga Hills C) Barail Hills D) Bhairabsura

17. How many languages have been recognised by the Indian Constitution ?

A 21 B) 23 C) 22 D) 30
I8. Which community did the Pallavas belong to ?

A) Gonds B) Bhils C) Tamil D) Khond
19. Which king is related to the Allahabad pillar inscription ?

A) Srigupta B) Chandragupta I

C) Harisena D) Samudragupta
20. What is the main livelihood of the people of Barak valley ?

A) Fishing B) Agriculture

C) Business D) Craft making
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